Week 5
Thursday 23rd April 2020
Year 5
Reasoning and problem solving
Please show your working out for all the word problem questions.
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ilograms and Kilometres

1a. Complele so thal each line adds up
o Bkg.

Give your answers in grams.

40009

20009 kg

% .

Za. Using the cards below, creale 3
different comparison statemens.

Nojag

3a. A pack of stawberries weighs 500g.

2packs of shawberes wil
PN
s Beth conect?

cost £4.00
Explain how you know.
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4a. Complete the
addsup fo 5,000m in every direcfion.
Give your answer in kilomees.
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5a. Using the cards below, creae 3
diflerent comparison stafements.

, 1

hs 1,500g.

lograms and Kilometres

Abag of oranges would

Explain how you know.
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7a. Complele Ihe circles so that each line
addsup fo 6.5km in every direclion. Give
your answer in kilomekes.

|
b0 Using he cards below, create 3
Gicrent comperson determens.
. asoog| | 43200
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90. Each apple weighs 105g.

20 apples would cost £3.20.

o

Is Ruby comect?
Explain how you know.
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